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1 BFEEH 1,68244% [#73R 70844 B3 68644 X5HZEE 2684 LA 194
ARG ERE 14 ]
2 BEHH 1,73044% [#73R 75514 B # 6954 X2 ZEE 2604 LA 1944
AR ERTE 14 ]
3 BESHELR 70[=]
4 TR 2R¥EDHERRUVERE
D 1 R-2RHFEDFER
FEZY | BEXE1 | EXE2 | BENE1 | ENE2 | ENE3 | ENEL | ENES =t
1 R H F 79 300 250 379 249 137 181 135 1,710
2 X ¥ FE 14 261 174 446 288 192 194 141 1,710
BABERTE 0 3 1 5 2 2 4 3 20
R E H it 14 264 175 451 290 194 198 144 1,730
¥ R H(%) 0.8 15.3 10.1 26.1 16.8 11.2 11.4 8.3 100.0
2 R ¥ %
EZE | BEXE1 | EXiE2 | ENHE1 | ENE2 | ENE3 | ENiE4 | ENES &t
FEZY 13 48 2 14 2 0 0 0 79
EXE1 0 213 24 54 9 0 0 0 300
1 EXiE2 1 0 138 96 13 2 0 0 250
% EME#1 0 0 10 282 75 12 0 0 379
] Efri2 0 0 0 0 188 59 2 0 249
= | ENHES 0 0 0 0 1 116 20 0 137
ENE T 0 0 0 0 0 3 165 13 181
E iS5 0 0 0 0 0 0 7 128 135
& it 14 261 174 446 288 192 194 141 1,710
QEEXRE
EE-HITEH TEHEH P
1,710 361 211 %
£E -4 -3 -2 -1 +0 +1 +2 +3 +4
wR GOt B | &5 | s EELL sins | ss | wons | EGE
0 0 1 11 1,349 239 83 25 2
5 ENE(EXRE)RTEEH (FM6E7A1BRAEREAR)
BEXIE1 | BEXiE2 genmEnE ENE1 | ENE2 | BENES3 | ENiE4 | ENES L
E1EHERE 1,342 965 0 2,194 1,464 1,113 1,162 875 9,115
655% L £ 758% 5k it 108 98 0 152 134 83 64 66 705
758k 1,234 867 0 2,042 1,330 1,030 1,098 809 8,410
E2EHRERE 11 31 0 37 42 23 18 30 192
£t 1,353 996 0 2,231 1,506 1,136 1,180 905 9,307
# R H(%) 145 10.7 0.0 24.0 16.2 12.2 12.7 9.7 100.0
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1 BFEEH 2,25444% [#r#8 96244 EF 91844 XSZEFE 3504 LA 231
ARG ERE 14 ]
2 BEHH 2,34044 (57 1,000 BEF 9704 X2ZEFE 3434 LA 2614
ERMGEERTE 15 ]
3 BEESHER 92[a]
4 1R 2R¥NEDHRRVERR
D 1R 2RHFDIER
FEZY | BEXE1 | EXE2 | BENE1 | ENE2 | ENE3 | ENEL | ENES =t
1 &R ¥ F 100 404 336 494 335 212 251 181 2,313
2 X ¥ FE 18 344 241 590 375 277 276 192 2,313
BAEZERE 0 3 4 6 4 2 4 4 27
R 18 347 245 596 379 279 280 196 2,340
B Ak (%) 0.8 14.8 10.5 25.5 16.2 11.9 12.0 8.4 100.0
2 X H ¥
JEZE | EXE1 | BEXiE2 | EN#1 | ENE2 | ENHE3 | ENE4 | ENES &&t
kY 16 57 3 21 3 0 0 0 100
ES 34 0 287 32 75 10 0 0 0 404
1 EXigE2 2 0 194 120 17 3 0 0 336
% EE 0 0 12 373 95 14 0 0 494
] B2 0 0 0 1 249 80 5 0 335
= | ENES 0 0 0 0 1 177 34 0 212
E#4 0 0 0 0 0 3 229 19 251
Ei5 0 0 0 0 0 0 8 173 181
& &t 18 344 241 590 375 277 276 192 2,313
QLEREE
EE-HTEHR ETEHEH ETHEE
2,313 483 209 %
#E -4 -3 -2 —1 +0 +1 +2 +3 +4
W |G| S | Eas | s EELL sins | B | son |EweE
0 0 2 13 1,830 317 114 34 3




